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Answer all the questions.
In each of the questions. 1 to 40 pick one of the alternatives (1), (2), (3), (4) which you consider
as correct or most appropriate.

01. Of the following quantities which one is considered as a vector qua:nti'tyl?

(1) weight (2) distance (3) speed (4) time
02. Select the response which shows only monosaccharides.

(1) maltose, cellulose, glucose (2) fructose, glucose, maltose

(3) glucose, galactose, fructose (4) cellulose, glucose, galactose

03. Which of the following is found in germinating seeds?
(1) maltose (2) sucrose : (3) glucose (4) lactose

04. The unicelluler organism shown in the picture is, -
(1) Euglena
(2) Paramecium
(3) Amoeba
(4) Chlamydomonas.

05. What is the equipment that can be used to show the growth of a plant ?
(1) auxanometer (2) thermometer (3) hydrometer (4) manometer

06. Select the group of organism which are responsible of making lichens.
(1) fungi and bacteria (2) fungi and algae
(3) algae and bacteria (4) algae and protozoans.

07. Out of the following compounds which one consist of an ionic bond?

1) CH,,0O, (2) C,H,OH (3) NH,C1 (4) HCI
08. Out of the following in which situation a sucrose molecule is produced

(1) Glucose + Glucose : (2) Fructose + Glucose

(3) Galactose + Glucose (4) Galactose + Fructose
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09. What is the animal phylum which is evolutionary related with vetebrates?
(1) Arthropoda (2) Echinodermata (3) Cnidaria (4) Anelida

10. How many moles of 'H' atoms are there in one mole of CH,COGCH compound?
(1 (2)2 (33 44

11.  The picture given beside showing a vitamin deficiency disease. Which of the
following vitamin is responsible for this disease?
(1) Vitamin - D (2) Vitamin - C (3) Vitamin - A (4) Vitamin - B

12. Number of protons and electrons presents in S ion respectively are, -
(1) 16, 16 (2) 16, 18 _ (3) 16, 14 (4) 18, 16

13. Which of the following is the correct acceleration when a motor cyclist starts his journey from rest and
- obtains a velocity of 15 m s, within 5 seconds?

(1) 2ms? 2)3ms? - (3) 5ms? (4) 6ms?

14.  Out of the following what is the balanced chemical equation?
(1) Mg+0, —n = MgO, (2) CaCO, -t CaO+ CO,
@80 +HO . . H.SO, (4) 2Al1 + 6HCI —-——232AICL + 2H,

15. 20000 N m? pressure is exerted on a small piston with 2 cm? cross sectionel area of a pressure pump.
What is the force exerted on an object kept on the large piston with the area 10 cm? ?

(1) ION (2) 20N . (3) 50N (4) 100 N
- 16.  Of'the following oxides which one has the hi ghest acidity?
)y NO., (2) 80, (B31E O (4) SO,
17. Select the advantage of using catalyst in industries.
(1) Able to produce high amount of products. (2) To increase the time taken to get the product.
(3) To increase the rate of reaction. (4) It doesn't participate in the reaction.

18.  Which of the following instance describes the Newton's third law.
(1) Motion that occurs after striking on the carrom disc on a carrom board.
(2) When the bus suddenly stops by applying brakes, the passenger would fall towards the forward direction.
(3) Moving a trolley on a horizontal surface of a table by applying a force.
(4) Motion of an inflated balloon forward with the opening of its mouth.

19. Of the following compound.s which pair has the same molar mass?
(H=1,7C=12, N=14,"0 16, Na=23, S—32, )

(1) NaOH, MgO (2) CO,, H S (3) NH,, H,O (4) CaO, MgO
20. Wateris a liquid at room temperature. What is the main factor that affects this?
(1) Water is an inorganic compound ' (2) Water has ionic bonds
(3) Water is a non polar solvent (4) Water has strong inter molecular bonds.

2L Select the hormone which is not important in human reproductive process. :
(1) Insulin (2) Progesterone (3) Oestrogen (4) Testosterone
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Out of the following diseases which one is not considered as a virus disease?

(1) dengue (2) influenza (3) tetanus (4) AIDS

Which of the following is not a common characteristic among two isotopic atoms of an element?
(1) atomic number ' (2) electronic configuration

(3) number of protons : (4) number of neutrons.

A characteristic which is possessed by viruses only.
(1) unicellular (2) multicellular
(3) no cellular structure (4) eukaryotic cell

The figure given is a sandwich bread with 10 cm length, 5 cm width
~and 500 g of mass. Select the response that shows pressure exerted by the
sandwich bread on the surface of the table where it is kept.

(1) 100 N m (2) 200 N m? (3) 1000 N m? (4) 1500 N m?

L R R R R

The figure shows a hanging lamp of 35 g. Find the tension exerted
on the wire.

(1) 35N (2) 35N (3) 350N (4) 3500 N
Out of the following select the instance where couple of forces is used,
(1) Removing a screw nail in a bicycle {(2) Opening a door.

(3) Removing a nail using a screw driver. (4) Moving things using a wheel barrow.

Select the electronic equipment shown in the picture.

(1) LED X (2) LDR
(3) resistor (4) capacitor
Select the correct statement about covalent compounds. 5

(1) Exist as solid, liquid and gas.

(2) All covalent compounds do not dissolve in water.

(3) Aqueous solutions of covalent compounds do not conduct electricity.
(4) They have high melting and boiling points.

Of the following statements which one is net a use of frictional force?
(1) Ability to walk on a surface.

(2) Ability of stopping a vehicle when it is moving.

(3) Tightening a coir rope.

{(4) Using bearings to rotate wheels.

Which of the following is not considered to be an evidance of a chemical reaction?
(1) emitting a gas : (2) changing the colour
(3) changing the physical state (4) forming a precipitate

At which time period, the development of skeleton starts in a foetus ?
(1) 5™ month (2) 7% month (3) 8" month (4) 4™ month
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33. In an electrical equipment used in an industry md1ca.tes 1000W. Find the energy used by this equipment if

it works for about 12 minutes.

(1) 12007 (2)12000J) - (3) 72000J (4) 720 000 J
34,

a c
- Which of the following shows the phylums of organisms a, b, ¢ respectively?

(1) Annelida, Mollusca, Echinodermata (2) Arthropoda, Annelida, Cnidaria

(3) Echinodermata, Mollusca, Cnidaria (4) Mollusca, Cnidaria, Arthropoda
35. Find the momentum of a cricket ball of mass 150 g, if it reaches 100 m s- "velocity.

(1) 15 kg m s (2) 30 kg m s! (3) 60kgm ! (4) 90 kg m s!
36. Which of the following organism has three chambers in the heart? :

(1) Bat (2) Ostrich (3) Salamandar (4) Penguwin
37. Consider the following reactions.

(A)Mg +2HCl — MgCL +H,

(B) 2H,0O, == 2H0 <0

(C)C+0O, ety GO

Which of the following terms correctly discribe each type of reactions given respectively?

(1) combination, decomposition, single displacement

(2) combination, decomposition, double displacement

(3) double displacement, decomposition, combination

(4) single displacement, decompostion, combination
38. Select the molecule which has incomplete octet of electrons in the central atom.

(1) CO, (@IS 3) BCL 4) CH,

12 Q
—_— A

39. What is the equivalent resistance of the circuit given ?

1) 20 (2) 40 bl

(3) 6a “4) 12a . 10

N
40. The following figure shows the observation when three objects A, B, Care kept in water.
g .

Given below are 3 statements on upthrust in A, B and C objects.

a) The upthrust exerted on the object A is equal to the weight of it,

b) The upthrust exerted on the object B is equal to the weight of it.

c¢) The upthrust exerted on the object C is equal to the weight of it.

Select the correct statement/s,

(1) aand b _ (2)bandc (3)aandc (4) Only a
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e Answer the four questions in Part A, in the space provided.
e Of the five questions in Part B answer three questions only.
Part A
A) A record of organisms identified in a field trip has forwarded by a group of students.
Given below are few organisms identified by them. ;
(1) Name the domain to which above organisms belong ..........ccocovvcvvvvvvivcieninensvensvenennn, (1 mark)
(ii) Write the letter of the organisms which belong to kingdom fungi.
. (1 mark)
(iii) Write the letter which indicates a non flowering plant with seeds.
. {1 mark)
- (iv) What are the two main types of flowering plants?
' (2 marks)
(v) Write the letter of the first organism to evolve a body cavity called coelom.
(1 mark)
(vi) Of the organisms given above, name the organism and 1ts phylum with soft
bodies and triploblastic ... . {2 marks)

(vil) Write the letter of the organism belongmg to the phylum wnh h1ghest number of species
i laingdom ammaling oo e o i anian R e s St ) vy S 2 AR )
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B.

02. A.

(i) Given below organells perform different functions in a cell. Write one function for each.

() fibosome = L. S M SN et s s DO L e nenset s L IIBERS)
(B DUCIEUSTRC b oy pt oot i Mo UL I Ul e s ot bt B S el AN TG
(o) polerbatics o L G S T ATl e T s e e e (a3
(ii) What is the organelle of the cell associated with respiration? ............cccceeeevirvvncenencnn.{ 1 mark)

(iii) Name the type of cell division which is important in producing new cells and healing wounds.
temsivizess (Gl IRATK)
(Total 15 marks)

Chemical compounds that build up living matter can be divided into two categories as organic
compounds and inorganic compounds.

(i) Of the bio molecules in the living body which one is considered important in storage of
genetic iINformation OF OTZAINSINS .....cueeresnsmsssssesssissnessaesnmamssasmseassssssssnsiosssansissnassrssassens (3 AMALK)

(i) A group of students heated a certain food substance in a crucible and hold a glass sheet above the
crucible.

a) Name two chemical substances they can use to identify water in the food.
b) Write an observation in the above experiment.
; ; : (1 mark)
(iii) Write the specific property of water related with the transport of water to the upper part of the
b ] e B e G = e T e R SR R e e (1 mark)
(iv) What is the element responsible for deficiency diseases like cramps, nausea and diarrhoea?
(1 mark)
(v) Deficiency of which element in plants causes dying of tissues at the tips of leaves?
: (1 mark)
(vi) What is the element responsible for the growth of intelligence in humans?
' | (1 mark)

Initiating rooting while it is still attached to the mother plant is known as layering.
(i) Name two types of layering.
e R R T L T e e e L I o e Tl et s e pinples )
(i) What is the importance of 1aY€riNg? ......c.coovoitrererevcrnesscerincmmsersessmeseessessseesesessesesesenenss (1 MATk)
(iii) a) Grafting is an artificial propagating method. In this method, name the rooted part of the plant.
b) Write a special property of this part of the plant ..........cccccccoviiniiiniiieicsnncneneen... (1 mark)
(iv) Which type of plant can used for grafting? ..........cccccvmineiivccncireennsnecnessessrereeneneenees (1 mark)
(v) What is the imporatance of cross pollination in plants? .........c.ccccviieicsninininssinereennen. (1 mark)
(Total 15 marks)
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03. (A) Atomic numbers of nine consecutive elements in the periodic table are given in the table below.
Element A B (& D E F G H
Atomic number 11 12 15 14 15.1 16 17 18 19

Answer the questions using only the given symbols.
(i) Which element has the lowest first ionisation €NEIZY? ......ccecerrerrerreerreeeresereensiorrassseons (1 mark)
(ii) Select the element that form oxide with highest acidity. :

....................................................................................................................................... (1 mark)
(iii) Write an observation, when element 'B' burns in air.
(iv) Which element has the highest electronegativity?
......................................................................................................................................... (1 mark)
(B) Given below is a set up used to collect a certain gas in the laboratory
[PPR—.
cork lid
B
beehive stand
Zn
@) oName the barte. B Cand B indane Fouue g i s s e St i g Lk
....................................................................................................................................... (2 marks)
(i1) Mention an error in the set Up. ...ccccceevcercnecenenne. AT LS I e R At TN (1 mark)
(iii) What is the chemical compound added into 'A' ........c.ooveiinncnicniiiicnic e (1 mark)

(iv) The chemical compound mentioned in (iii) above and Zn reacts. Write the balance equation for

e abOVE TEACHON. . ek e s et (2 marks)

(C) The electrons in the valence shell contributes when forming chemical bonds.
(i) Draw the lewis dot and cross diagram of the chemical compound formed between nitrogen (IN)

and hydrogen (H)
_ : : (2 marks)
(i) In the above structure there is a pair of electrons without bonding .
What is the name given to this pair of electrons?
........................................................................................................................................ (1 mark)
(iii) Mention the type of bond/s of the followmg compounds. '
(a) NH, Cl ...................................................................................................................... (1 mark)
(b) CH, 6 ................................................................................................................... (1 mark)
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04. (A) A train that travels in a horizontal path starts from rest and takes 10 m s velocity after 5 minutes.
Then it travels in the same velomty for another 15 minutes. (Velocity increases and decreases
uniformly)

(i) Draw a velocity time graph to show the above description.

(3 marks)
(ii) Calculate the acceleration of the train within first 5 minutes.-
.............................................................................................................. (2 marks)
(iii) What is the time period an unbalanced force is not exerted?
............................................................................................................ (2 marks)
(iv) Calculate the total distance travelled by the tram
SR e e e s el e (2 marks)

(B) (i) At the moment the train starts to travel a passenger who was standing lost the balance and
fell in the forward direction, :
What is the Newton's law which explains this incident?

............................................ i s L] thark)
(i) Calulate the momentum of a passenger with a mass of 60 kg when the train travels with uniform
velocity. :
....................... (2 marks)
(C) (i) Why does foot board of train has rough surface?

.................................................................................. (1 mark)

(i) Write a disadvantage of the above phenomena you mentioned in (i) above
.......... ; (2 marks})
(Total 15 marks)
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Part B % U,
Answer only three questions from the questions 5, 6, 7, 8 and 9
05. (A)At present gene engineering technoloty is used to develop efficiency of different fields.
(i) Write two inherited characteristics of man. - . (2 marks)
(ii) Name the first person who conducted scientific experiment on inheritance. (1 mark)
(ili)a) Name the plant used for experiments on inheritance by the above mentioned person
in (ii) above. (1 mark)
b)  Write two reasons for using above mentioned plant. ; (2 marks)
(B) Haemophilia is a sex linked inherited disease. (consider 'H' as dominant character and 'h’ as
recessive character)
(i) Write the genotype of a carrier woman for haemophilia. (1 markj
(i) Draw a punnet square to show offsprings when a carrier woman is married
to a healthy man. _ (2 marks)
(iii) Write an example for the application of gene technology. .4 {1 mark)
(C) Flower is the part that sexual reproduction takes place.
(i) Name the parts P, Q, R and S. £ (2 marks)
(i) What will happen to the structure 'R’ after fertilization ? (2 marks)
(iii) Write two importances of the dispersal of fruits and seeds. (2 marks)
(iv) a) Write the method of disperéal of fruits and seeds given below.
1. Coconut 2. Hora 3. Rubber (3 marks)
b) Write an adaptation for the dispersal of fruits and seeds in cashew plant (1 mark)
(Total 20 marks)
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06. (A) The following is a diagram of a set up which is used to identify factors affecting the rate of reaction.

20°C 40 °C 60 °C 60 °C

acidified

KMnO,
solution

acidified
KMnO,
solution

cleaned cleaned
iron iron
nails nails
A B & i
(i) What factors that affect the rate of reaction are tested here? (1 mark)
(ii) What is the factor that should be kept constant in all four tubes? (1 mark)
(iii) Out of the factors mentioned in (i) above, mention the pair of tubes to test each factor. (1 mark)
(iv) Write the observation that is used to compare rate of reaction in this experiment. (1 mark)
(v) Write the decending order of rate of reaction in test tubes A, B, C and D (2 marks)
(vi) Suggest a method of keepmg these four tubes at constant temperature during the experiment.
(2 marks)
(B) Two types of bonds in water are labelled as A and B.
8 A
Hﬁf b
- > / o)
H® § \
(i) Name the bonds Aand B. : (2 marks)
(ii) Write the specific property of water due to bond 'B'. (1 mark)
(iii) Write the reason for the formation of bond 'B'. (1 mark)
(iv) What is the number of water molecules in a mole of water? : (1 mark)
(C) Given below is an incomplete part of a reactivity series.
K|1| Ca Mg Al |2}|3| Pb |4|Hg Ag Pt Au
(i) Whrite elements from 1, 2, 3 and 4 respectively. (2 marks)
(ii) The method of extraction of a metal is decided according to its location in the
activity series. What is the method of extraction the element 'l’ industrially? (1 mark)
(iii) Out of the elements from 1 to 4 which element does not react with HCI? (1 mark)
(iv) When Mg and Ag metal stripes are added separately into two test tubes with
copper sulphate solutions which element reacts with the solution? (1 mark)
(v) Write 2 observations in (iv) above. (2 marks)
(Total 20 marks)
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07. (A)(1) Water is stored about 2 m height in a spherical shape water tank with 3.5 m radius.
(The density of water is 1000 kg m>, g = 10 m 52) '

(a) Calculate the pressure exerted on the bottom of the tank. (2 marks)
(b) What is the force exerted on the bottom of the tank as a result of water pressure? (3 marks)
(c) Calculate the upthrust of an object of 2 kg when it is floating fully immersed. (2 marks)
(d) Write the Archemede's law that explains 'c' (3 marks)

20
B —R—R—w
6Q

AW
e
3V

In the above circuit each bulb has 1Q resistance.
Answer the following questions using the above circuit.

(1) Calculate the equivalent resistance. - (2 marks)
(i) Find the current that flows through the bulb when the switch is closed. (2 marks)
(ii1) If one bulb extingusihes what will happen to the other bulb? . (2 marks)

(iv) Given below is a fixed resistor.

red green red
v

silver

red =2
green =5
silver = 10%

a) Calculate the tolerance value of the above given resistor. (2 marks)
b) Find the range of the resistance of the resistor. (2 marks)
(Total 20 marks)
08. (A)After implantation, foetal development occurs with the division of cells. Given below is a sketch
diagram of It.
P @ "R
——
20

(i) Name P, Q, R and S. " (2 marks)
(11) Name the process takes place at 'X' {1 mark)
(ii) List separately hormones produced in female and male reproductive systems. (2 marks)
(B)(®) Write two types of autotropic nutrition. : . (2 marks)

(i) By which name is the ability to respond for the changes in the environmnet is known as?
(1 mark)
(iii) Name a structure which is used for the exchange of gases in plants. (1 mark)
(iv) Which component of the air enters into the plant during photosynthesis? {1 mark)
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(C) () Write two instances where couple of forces used in daily life. (2 marks)
(i) Towards north and south direction, 30 N and 18 N forces are excerted repectively on a trolley

which is kept on a table in the laboratory. Find the resultant force of the trolley and the direction

of the motion. (2 marks})

(ii1) (a) The diagram here, shows and instance where ,
8 N and weight W are applied on the two sides of a rod, p~—30cm—p|e20cm—s
which is balanced. Calculate the weight W.
(3 marks) 1 l

3 W
(b) Calculate the W if the rod is balanced at its center. ;

(iv) The weight of a student is 250 N who is seated on a swing. Draw a sketch of a diagram to show
the forces acting on it if the child is at equilibrium on the swing.

(3 marks)
(Total 20 marks)
09. (A) Ablast furnace is used for the extraction of iron. Reduction of haematite takes place in it.
(i) Write chemical formulas of other raw materials used other than haematite. (2 marks)
(i1) Calculate the molar mass of haematite.
(Fe=56,0 = 16) (2 marks)
(111) Write two balanced equations for the formmg of carbon dioxide during extraction of iron.
(2 marks)
(iv) Mention the main by product and write down a use of it. (2 marks)
(v) Extraction of iron releases harmful gases to the environment. Mention a harmful gas and state a
harmful effect of that gas when it releases to the environment. (2 marks)

(B) An eagle of 5 kg, catches a fish of 1.5 kg coming from a 500 m height with a velocity of 3 m s

(g-10ms?)
(i) Calculate the potential energy of the eagle before it catches the fish. (2 marks)
(i) Calculate the kinetic energy of the eagle when it is flying with uniform velocity (2 marks)
(ii) Find the kinetic energy of eagle if it travels with the same velocity after catchihg the fish.
(3 marks)
(iv)Draw a velocity-time graph for the fallmg of fish if the eagle loose the fish from its mouth into
water after flying to a height 100 m. (3 marks)
(Total 20 marks)
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